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[ L EA ey ] ]
20204

BIEEAE: co
8EF i EA%20ppm B F15{EAN10ppm |5 RIEA30ppm 1B R E A 30ppm B F15{EA%1 0ppm |RETEED R AR
AED EHEE M IR R B ppm) 8B EA20ppm |&HEZ zEIH DA | B EHIEA100pm | ZHBA-BHDH ull‘mof—@t LLEISAE-T=CE [ 1BRIENREE | B FHENREE B EHED2RKRN £B2-A528 |FHHHIcLdEFY
R ’ ’ e BAER |MREEMICHT| F@AER  |HAEBRICHT tﬂg;éa%ﬁz‘_ AHBEHDHE (ppm) (ppm) fE(ppm) LIEERHLI=CL | fEAN10ppmE#B X

2EE 2E& BRI SEE DEE =B%

a 365 8718 02 0 00 0 00 0 0. 09 0.4 03 [e) 0|
HARET 365 8730! 0.2 0 0.0 0 0.0 0 0. 0.7 0.4 0.4 [e) 0|
Ed 365 8724 0.2 0 0.0 0 0.0 0 0. 32 0.4 0.4 [e) 0




HE FHEFESR EN
20204

BIEIEE

PM2.5

N H FE191{EHY35 — s odi

B T HfE s SERBBRI 51T | FRD BB
T 44 {5 3 = F-

HER EDMERH | FoBuem) | o BOFR | ez rn LY EBALE T aeTE |2 A THEOFM

98%{iE( 1 g/m”) HOERE B 3 0 3

%I (ZWT%)EU’% (ll g/m ) 98&1@(”5/”‘ )
‘é}iﬁ' 363 8.7 22.8 2 0.6 8.7 22.8




HN FR{EFHE mn

20204
BIEER: NMHC
. 1@?;9&%3&%@25 - i{j%~9&%3ﬂ%ﬁ§zg
_ i - =5 _ o 4 |6 ~ OB 3 B ] T 44 E/H%0.20ppmC% 8 |6 ~ QR SR T 14| fEHY0.31ppmCHEHR
AR 217265R Fi9iEeeme) | Oy IRIEBID | 6 opemze gy |0 OFISHRIF O~ OFSIMER) 1y 1) 20ppmCE | 21 BBMDE~9 |{EH0I1ppmCER| X 1-BAMDE6~9
FH4{E(ppmC) BO&FEEemC) BOREBEemO) ™" 25 By e RIS | ABH  |BAERMISNT
5EE 5EE
= 8618 0.09 0.10 365 0.31 0.04 5 14 0 0.0
HAREAT 8643 0.08 0.08 364 0.25 0.01 4 1.1 0 0.0
E3 8610 0.09 0.09 354 0.76 0.03 27 76 4 1




HE FREFR AN

20204
BIEIER : CH4

omOBERLE 6~ OBFFEFMEIF | 6~ OFF3EaIF

HAIE B I 7 B F15{E(ppmC) EFi’*ﬂiE(\ mC) 6~OFFRIEBE | BMENRSIE HEDRIEIE
A (ppmC) (ppmC)

=k 8618 1.96 1.98 365 2.63 1.83
HARHET 8643 1.99 2.01 364 2.40 1.84
o 8610 1.95 1.96 354 2.26 1.78




HE FEESFR IR

20204
BIEEE: THC

AR AREE | TR0 | ygipeeme) | O OFAEER |50 8B fE(pemO)| fE D BIEB(pomO)
=il 8618 2.05 2.08 365 273 1.90
HAR AT 8643 2.06 2.09 364 2.65 1.90
T 8610 204 2.05 354 277 184




N FREFR mm
20204

RIEEE: SPM
< TETRIB A . EEZSIEE BEEEORBN
1ESRAMEA e B FEA fonail = - = - ORI iyt
. T . - 3 3p4n= | 0.20mg/mZEHBZ 3y am= | 0.10mg/mZEHz | 1HMEEOKSIE |BENEOKSE B THED2RIY 010mg/m*eiBz | FHlil<k2 B Y
AER HAIE B SAIE R FE14{#E(mg/m’) 0.20?_%;?3?@& el Y Nty 0.10mﬁ/én§ﬁz- -BHOEMIE (mg/m%) {Bi(mg/m®) f=BH28 L& | {EA%0.10me/m’*%E
i GE (S SR - BT REE BLE-CEDERE | Bar-A%
& 363 8695 0.012 0.0 0.0 0.128 0.100 0.031 o 0
HYRET 362 8687 0.012 0 0.0 0.3 0.137 0.115 0.030 [@) 0
b 363 8711 0.014 0 0.0 0 0.0 0.101 0.084 0.040 O 0




nE E£MiEEE mn
20204

BEEE:

NO,
EEZS[E

TR0 200m | oo | IBBHEAO Iopm | e BT LfEA By | SFOER .

. . . - BB RIS | BT EO RS | 18RIEAC 200m | £HEZ F-ERA Q) | |FEIEAV IR | ) o 50001 g FABA 10 06ppmERZIH|  0.04ppmbl Lk oot BFmosn [SEHEEE-
LE3) EXREE D LT opm) (pom) EBALEMS | MERmEInT A0 T O gt o e 000 E ARy e nar| 0 osppm T | 2OOPTELEDR | Copyopm) | A0 0000m

EET E PRTE T S TN # B =
= 362 8580 0.009 0.045 0.026 0 0.0 0 0.0 0 0.0 0 0.0 0.022 0]
R ET 361 8702 0.008 0.044] 0.027 3] 0.0 0] 0.0 0] 0.0 0] 0.0 0.022 0|
E3 364 8661 0.006 0.041] 0.020 0 0.0 0 0.0 0 0.0 0 0.0 0.014 0




HE FREFHE AN
20204

BIEEE: NO
AT HHAE B AE R Eigilem) | TBOREE |BFREOKEE| H PREOSH
(ppm) (ppm) 98%{E(ppm)
=El 362 8580 0.005 0.081 0.024 0.015
1\ R AT 361 8702 0.003 0.075 0.024 0.016
bo 364 8661 0.004 0.062 0.012 0.009




EE £RESR AN

20204
BIEIEE NOX

A e _ EREO RSB |HEREDREIE| B TEEDER T
a5 362 8580 0.014 0.102 0.046 0.038 66.6
AR AT 361 8702 0.012 0.108 0.051 0.035 71.3
Eo 364 8661 0.010 0.102 0.031 0.021 64.5
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—BibmE (p. 121)

BN FIRME (p.122)

mAEKFR GEAR URIEKE) (p.124)

miEkE (A2 2) (p.126)

kiEKF (Z2RIEKE)

R FIRME (p.128)

ERBKILLY (CRIEER)

EREEY (—BRIEER)

ERBKILEY (p.133)

(p. 127)

(p. 130)

(p. 132)



BN FREZRFLEERETHE) AN

20164EE ~ 20205

BIFEIER: Cco B 0.1 ppm

BIER 20164E/E [ 20174 E [ 2018FE | 2019F E | 2020F E | E B E| o E|RIEE
=Xl 3 3 2 2 2 2 3 2
0 2 2 - - - 2 2 2
HARHET - 2 2 2 2 2 2 2
E 3 3 3 3 2 3 3 2

EHIE 3 3 2 2 2 2

Reib 3 3 3 3 2

=IE{E 2 2 2 2 2




BN FREZRFLEERETHE) AN

201645 E ~ 20205 E

BIFEIER: PM2.5 BAST 0.1 ¢g/m3
BIER 20164E/E [ 20174 E [ 2018FE | 2019F E | 2020F E | E B E| o E|RIEE
=Xl 101 95 101 85 87 94| 101 85
EHE 101 95 101 85 87 94
el 101 95 101 85 87 101
=IEE 101 95 101 85 87 85




Bl FREERFEEROE NN

201645 E ~ 20205 E

BIFEIER: PM2.5 BAST 0.1 ¢g/m3
BIER 20164E/E [ 20174 E [ 2018FE | 2019F E | 2020F E | E B E| o E|RIEE
=Xl 234 225 250 199 228] 2271 250 199
EHE 234 225 250 199 228] 227
el 234 225 250 199 228 250
=IEE 234 225 250 199 228 199




BN FREZRFLEERETHE) AN

20164EE ~ 20205

BIFEIER: NMHC B 0.01 ppmC
2016ZEE | 20174 | 2018 E | 2019FE EH{E B &xIEE

=Xl 9 10 9 9 9 9 10 9
E 7 10 - - - 9 10 7
HARHET - 7 9 10 8 9 10 7
E 2 15 13 11 9 12 15 9

EHE 9 11 10 10 9 10

el 2 15 13 11 9 15

=IE{E 7 7 9 9 8 7




HE FREERFELEROG~IKICHITHTHIE HE

20164EE ~ 20205

BIFEIER: NMHC B 0.01 ppmC
20164EE | 20174FFE | 20184FE [ 20194E £ | 20204 B [F15{E =IEE

=Xl 11 11 11 10 10 11 10
E 7 9 - - - 8 7
HARHET - 7 9 10 8 9 7
E 20 19 17 12 9 15 9

EHIE 13 12 12 11 9 11

Reib 20 19 17 12 10

=IE{E 7 7 9 10 8 7




BN FREZRFLEERETHE) AN

201645 E ~ 20205 E

BIFEIER: CH4 B 0.01 ppmC
BIER 20164E/E [ 20174 E [ 2018FE | 2019F E | 2020F E | E B E| o E|RIEE
=Xl 194 195 195 195 196] 195/ 196] 194
E 194 196 - - - 195]  196] 194
HARHET - 195 196 198 199]  197] 199] 195
E 200 194 192 194 195]  195] 200] 192
EHE 196 195 194 196 197] 196
el 200 196 196 198 199 200
=IEIE 194 194 192 194 195 192




BN FREZRFLEERETHE) AN

201645 E ~ 20205 E

BIFEIER: THC B 0.01 ppmC
BIER 20164E/E [ 20174 E [ 2018FE | 2019F E | 2020F E | E B E| o E|RIEE
=Xl 203 204 204 205 205] 204] 205] 203
E 200 205 - - - 203  205] 200
HARHET - 202 204 207 206] 205] 207 202
E 212 209 205 204 204] 2071 212] 204
EHIE 205 205 204 205 205] 205
el 212 209 205 207 206 212
=IEIE 200 202 204 204 204 200




BN FREZRFLEERETHE) AN

20164F £ ~ 2020 E

BIFEER: SPM B Ug/m’
BIER 20164E/E [ 20174 E [ 2018 E | 2019F E | 2020F E | ¥ E| R E|RIEE
=Xl 14 13 14 12 12 13 14 12
E 14 15 - - - 15 15 14
HARHET - 10 14 12 12 12 14 10
E 12 12 15 16 14 14 16 12
EHIE 13 13 14 13 13 14
e B 14 15 15 16 14 16
=IE{E 12 10 14 12 12 10




HE FREZFEIERCEFSME) AR

20164F £ ~ 2020 E

BIFEER: SPM B Ug/m’
BIER 20164E/E [ 20174 E [ 2018 E | 2019F E | 2020F E | ¥ E| R E|RIEE
=Xl 32 33 33 31 31 32 33 31
E 29 35 - - - 32 35 29
HARHET - 10 36 33 30 27 36 10
E 30 31 41 43 40 37 43 30
EHIE 30 27 37 36 34 32
e B 32 35 41 43 40 43
=IE{E 29 10 33 31 30 10




BN FREZRFLEERETHE) AN

201645 E ~ 20205 E

BIFEIER: NO, B ppb
HIE B 2016%EE | 20174EFE [ 20184 | 20195 & e
=Xl 12 11 11
FZEH] 13 13
HAEHET 7 10 9 8 9
E 9 7 7 6 7
EHIE 10 9 8 10
el 13 11 0 9
=IE{E 7 7 6




Bl FREERFEEROE NN

201645 E ~ 20205 E

BIFEER NO, B ppb
BIER 20164E/E [ 20174 E [ 2018 | 2019F E | 2020F E | B E| R E|RIEE
=% 26 25 22 23 22 24 26 22
FZEH] 28 26 - - - 27 28 26
HAEHET - 8 22 22 22 19 22 8
E 17 17 15 15 14 16 17 14
EHiE 24 19 20 20 19 22
e b 28 26 22 23 22 28
=IE{E 17 8 15 15 14 8




EE FHELFELERETHE AR
20164EE ~ 20205 E

BIEIER : NO =R v ppb
BIER 2016%EE [ 20174 E [ 2018 E [ 20195 E [ 20205 E [ B[R E[=
=Xl 8 7 6 5 5 6 8
E 0 8 8 - - - 8 8
HARHET — 1 5 4 3 3 5
E 5 5 4 4 4 4 5

EHIE 7 5 5 4 4 5

Reib 8 8 6 5 5

=IE{E 5 1 4 4 3




BN FREZRFLEERETHE) AN

201645 E ~ 20205 E

BIEIER : NOX =R v ppb
BIER 20164E/E [ 20174 E [ 2018FE | 2019F E | 2020F E | E B E| o E|RIEE
=Xl 20 20 17 15 14 17 20 14
E 22 21 - - - 22 22 21
HARHET - 8 15 13 12 12 15 8
E 13 13 11 11 10 12 13 10
EHIE 18 16 14 13 12 16
Reib 22 21 17 15 14 22
=IE{E 13 8 11 11 10 8




3 AMIE

(1

(2)

@)

4)

(5)

(6)

(N

(8)

9)

—BRibm R (p. 135)

BN FIRE (p. 136)

mAEKSER (GEX & UikiEkF|)  (p. 137)

miEkE (A5 2) (p.138)

kiEKF (Z2RIEKE)

R FIRME (p. 140)

ERBKILLY (CRIEER)

EREEY (—BRIEER)

ERBKIEY (p.143)

(p. 139)

(p. 141)

(p. 142)



HE AMESH AN

20204
BIEER: co
A EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 At

= ABIEBR 30 31 30 31 31 30 31 30 31 31 28 31 365
B E B RS 717 741 715 741 741 717 741 717 741 741 666 740 8718
F 915 (ppm) 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.3 0.3 0.3 0.2 0.2
8HFHI flE A% 20ppmZ #8 & = 151 0 0 0 0 0 0 0 0 0 0 0 0 0
B FEHfEAN10ppmZ#E 2 1= A 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B ] IE D 2= = {B (ppm) 0.4 0.3 0.4 0.4 0.3 0.3 0.6 0.7 0.7 0.9 0.7 0.6 0.9
B £ #1E D 5 = fE (ppm) 0.3 0.3 0.3 0.2 0.2 0.2 0.4 0.3 0.4 0.4 0.3 0.3 0.4
1B fEAN30ppm A E (S S7=CEA B DB E 0 0 0 0 0 0 0 0 0 0 0 0 0

HARET ABIE B 30 31 30 31 31 30 31 30 31 31 28 31 365
B B RS 718 742 718 736 742 718 742 718 742 742 670 742 8730
F #3915 (ppm) 0.2 0.2 0.1 0.1 0.1 0.2 0.2 0.2 0.3 0.3 0.3 0.2 0.2
8 HI flE A% 20ppmZ #8 & 1= 151 0 0 0 0 0 0 0 0 0 0 0 0 0
B FEHfEAN10ppmZ#E = f= A 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B ] IE D 2= = {B (ppm) 0.3 0.4 0.3 0.3 0.4 0.3 0.5 0.5 0.7 0.7 0.6 0.4 0.7
B £ #1E D 5 = {E (ppm) 0.2 0.3 0.2 0.2 0.2 0.2 0.3 0.4 0.4 0.4 0.3 0.3 0.4
1B fEAN30ppm A E (S S7=C &R B DB E 0 0 0 0 0 0 0 0 0 0 0 0 0

Ed AhAIE B 30 31 30 31 31 30 31 30 31 31 28 31 365
B B RS 717 742 718 742 735 718 742 718 742 738 670 742 8724
F 915 (ppm) 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.3 0.3 0.3 0.3 0.3 0.2
85 HI flE A% 20ppmZ 8 & 1= 151 0 0 0 0 0 0 0 0 0 0 0 0 0
B FEHfEA10ppmZ#E = f= A3 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B 1 IE D 7= = (B (ppm) 1.1 22 0.5 0.5 2.8 3.2 0.8 1.2 1.0 1.1 0.9 2.8 3.2
B ¥ #)1E D 5 = {E (ppm) 0.3 0.4 0.3 0.3 0.3 0.4 0.3 0.3 0.4 0.4 0.3 0.4 0.4
TR A 30ppm B E 175 o7-— EA dr D H B 0 0 0 0 0 0 0 0 0 0 0 0 0




HE AMESH AN

20204
BIEER: PM2.5
:ﬁ“ -
A EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 At
= AAIEB 30 31 28 31 31 30 31 30 31 31 28 31 363
EHIE(¢ g/m3) 8.6 9.6 9.9 6.3 11.5 6.1 7.9 9.2 5.7 8.1 9.2 12.4 8.7
BESEDRSE(U g/m3) 205 24.9 26.1 15.4 26.3 11.0 205 20.2 12.8 16.5 25.6 58.1 58.1
HEBIEAS5 U g/m3% B AT- HER 0 0 0 0 0 0 0 0 0 0 0 2 2




HE AMESH AN

20204
BIEER: NMHC
A EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 A

= 8 7E B Rl 709 734 705 734 733 709 731 711 732 733 655 732 8618
F1#5{E(ppmC) 0.07 0.07 0.08 0.09 0.09 0.10 0.10 0.10 0.09 0.09 0.08 0.08 0.09
6~ 9KFIZH(+5 F191E(ppmC) 0.07 0.08 0.09 0.10 0.10 0.10 0.11 0.11 0.10 0.11 0.10 0.09 0.10
6~ ORFIE B3 30 31 30 31 31 30 31 30 31 31 28 31 365)
6~ 95 3B Tt {E D f= = B (ppmC) 0.13 0.19 0.13 0.15 0.14 0.14 0.19 0.24 0.28 0.31 0.26 0.19 0.31
6~ 95 3B T 1 {E D m= (& B (ppmC) 0.05 0.05 0.06 0.07 0.07 0.08 0.06 0.05 0.04 0.04 0.05 0.04 0.04]
6~ OFF SEF R 1 fEA0.20ppmCEREZ T- HE 0 0 0 0 0 0 0 1 1 2 1 0 5
6~ OFs SEF R F 1 fEA0.31ppmCERBEZ - HE 0 0 0 0 0 0 0 0 0 0 0 0 0

HARET B 7E B Rl 706 737 710 731 737 713 733 710 736 737 661 732 8643
F#5{E(ppmC) 0.06 0.06 0.07 0.08 0.10 0.08 0.09 0.09 0.09 0.07 0.06 0.06 0.08
6~ 9KFIZH(+5 F191fE(ppmC) 0.07 0.06 0.07 0.07 0.10 0.08 0.09 0.10 0.10 0.08 0.08 0.07 0.08
6~ 9O HIE B 5 30 31 30 31 31 30 31 29 31 31 28 31 364
6~ 95 3B T 1 {E D f= = B (ppmC) 0.16 0.12 0.11 0.12 0.20 0.16 0.15 0.20 0.23 0.20 0.25 0.15 0.25
6~ 95 3B T 19 {E D m= (& B (ppmC) 0.04 0.03 0.05 0.04 0.08 0.05 0.03 0.03 0.02 0.03 0.01 0.03 0.01
6~ OF; SHF R 1 {EA0.20ppmCERBEZ 1= HE 0 0 0 0 0 0 0 0 3 0 1 0 4
6~ OFs SRF R 1 fEAY0.31ppmCERBEZ 1= HE 0 0 0 0 0 0 0 0 0 0 0 0 0

Ed 8 7€ B Rl 711 733 709 728 720 710 733 708 733 726 662 737 8610)
F1#5{E(ppmC) 0.06 0.08 0.10 0.11 0.11 0.08 0.09 0.11 0.11 0.08 0.10 0.10 0.09
6~ 9K IZH(+5 F9E(ppmC) 0.06 0.07 0.10 0.09 0.10 0.09 0.07 0.10 0.12 0.10 0.11 0.12 0.09
6~ O HIE B3 28 31 29 28 28 30 30 30 31 30 28 31 354
6~ 95 3B T Y {E D iz = B (ppmC) 0.22 0.12 0.59 0.25 0.22 0.24 0.12 0.31 0.27 0.30 0.27 0.76 0.76
6~ 9§ 3B T 19 {E D m= & B (ppmC) 0.03 0.03 0.04] 0.05 0.05 0.05 0.05 0.04 0.04 0.03 0.03 0.03 0.03
6~ Qs S 1 {EA%0.20ppmCZREZ 7= H 2 1 0 2 1 2 1 0 3 3 4 5 5 27
6~ O 3 Tal “E B A°0.31ppmCZ B A T- H 2 0 0 2 0 0 0 0 0 0 0 0 2 4




HE AMESH AN

20204
BIEER: CH4
RS =) =
HIER EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 R

= 8 7E B Rl 709 734 705 734 733 709 731 711 732 733 655 732 8618
F1#5{E(ppmC) 1.94 1.93 2.00 2.01 1.96 1.93 1.95 1.96 1.97 1.98 1.98 1.96 1.96)
6~ 9KFIZH(+5 F191E(ppmC) 1.95 1.94 2.02 2.05 2.04 1.95 1.97 1.97 1.98 1.99 1.99 1.98 1.99)
6~ ORFIE B3 30 31 30 31 31 30 31 30 31 31 28 31 365)
6~ 95 3B Tt {E D f= = B (ppmC) 1.99 1.99 2.31 2.63 2.36 212 2.04 2.04 2.03 2.04 2.03 2.02 2.63
6~ 9§ 3B T 1 {E D m= & (B (ppmC) 1.93 1.91 1.91 1.92 1.83 1.85 1.90 1.93 1.94 1.95 1.95 1.93 1.83

HARET 8 7E B Rl 706 737 710 731 737 713 733 710 736 737 661 732 8643
F1#5{E(ppmC) 1.96 1.94 1.98 2.01 1.96 1.97 2.01 1.99 1.99 2.00 2.02 1.99 1.99)
6~ 9KFIZH(+5 F191E(ppmC) 1.97 1.95 2.00 2.03 1.99 1.99 2.03 2.03 2.03 2.02 2.06 2.03 2.01
6~ 9FiIE HE 30 31 30 31 31 30 31 29 31 31 28 31 364
6~ 95 3B T 1 {E D f= = B (ppmC) 2.14] 2.02 2.14] 2.31 2.13 2.15 2.17 222 2.28 2.21 2.40 2.34 2.40
6~ 9§ 3B T 1 {E D m= & (B (ppmC) 1.90 1.84 1.89 1.92 1.87 1.87 1.89 1.92 1.92 1.96 1.95 1.91 1.84

Ed 8 7E B Rl 711 733 709 728 720 710 733 708 733 726 662 737 8610)
F15{E(ppmC) 1.94 1.92 1.92 1.92 1.91 1.89 1.96 2.00 1.97 1.97 2.01 1.96 1.95]
6~ 9K IZH(+5 F91E(ppmC) 1.94 1.92 1.94 1.93 1.92 1.90 1.96 2.01 1.99 2.00 2.03 1.97 1.96)
6~ 9K5iIE HE 28 31 29 28 28 30 30 30 31 30 28 31 354
6~ 95 3B T 1 {E D iz = B (ppmC) 1.97 1.97 2.10 2.09 2.01 1.96 2.01 2.15 2.13 2.15 2.26 2.05 2.26
6~ O S F B 1B ) Bx 1 {8 (ppmC) .92 1.89 1.86 1.82 1.86 178 188 1.95 191 1.92 1.94 193 1.78|




HE AMESH AN

20204
BIEER: THC
RS =) =
HIER EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 R

= 8 7E B Rl 709 734 705 734 733 709 731 711 732 733 655 732 8618
F1#5{E(ppmC) 2.01 2.00 2.08 2.10 2.06 2.03 2.05 2.05 2.06 2.07 2.06 2.04 2.05
6~ 9KFIZH(+5 F191E(ppmC) 2.02 2.02 2.11 2.14 2.13 2.05 2.08 2.08 2.08 2.11 2.09 2.07 2.08
6~ ORFIE B3 30 31 30 31 31 30 31 30 31 31 28 31 365)
6~ 95 3B Tt {E D f= = B (ppmC) 2.12 2.16 2.41 2.73 2.50 2.26 2.23 224 2.31 2.34 2.26 2.19 2.73
6~ 9§ 3B T 1 {E D m= & (B (ppmC) 1.98 1.97 1.99 1.99 1.90 1.93 1.98 1.99 2.01 2.01 2.01 2.00 1.90

HARET 8 7E B Rl 706 737 710 731 737 713 733 710 736 737 661 732 8643
F1#5{E(ppmC) 2.02 2.00 2.05 2.09 2.06 2.05 2.10 2.08 2.08 2.08 2.08 2.05 2.06
6~ 9KFIZH(+5 F191E(ppmC) 2.04 2.01 2.07 2.11 2.10 2.07 2.11 2.12 2.12 2.10 2.14 2.10 2.09
6~ 9FiIE HE 30 31 30 31 31 30 31 29 31 31 28 31 364
6~ 95 3B T 1 {E D f= = B (ppmC) 2.25 2.13 2.25 2.41 2.25 224 2.28 242 2.50 2.41 2.65 2.46 2.65
6~ 9§ 3B T 1 {E D m= & (B (ppmC) 1.96 1.90 1.94] 1.98 1.95 1.93 1.94 1.95 1.97 2.00 1.97 1.95 1.90

Ed 8 7E B Rl 711 733 709 728 720 710 733 708 733 726 662 737 8610)
F15{E(ppmC) 2.00 1.99 2.03 2.03 2.02 1.97 2.04 2.11 2.08 2.05 2.10 2.06 2.04
6~ 9K IZH(+5 F91E(ppmC) 2.01 1.99 2.03 2.02 2.02 1.99 2.03 2.11 2.11 2.10 2.14 2.09 2.05
6~ 9K5iIE HE 28 31 29 28 28 30 30 30 31 30 28 31 354
6~ 95 3B T 1 {E D iz = B (ppmC) 2.15 2.07 2.53 2.27 2.15 213 2.10 245 2.38 2.45 2.52 277 2.77
6~ O S F B 1B ) Bx 1 {8 (ppmC) 1.96 1.94 193 1.90 194 1.84 195 1.99 198 197 198 198 184




HE AMESH AN

20204
BIEER: SPM
RS =) =
HIER EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 At

= ABIEBR 30 31 28 31 31 30 31 30 31 31 28 31 363
B E B RS 719 743 672 742 743 719 743 717 742 743 670 742 8695
F 15 f(mg/m3) 0.011 0.013 0.014 0.010 0.019 0.010 0.011 0.012 0.008 0.011 0.012 0.018 0.012
1B IEAY0.20me/m3%RB Z =R 3R 0 0 0 0 0 0 0 0 0 0 0 0 0
HEH{EAY.10me/m3F B2 1-A %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B IE D 5 = { (mg/m3) 0.038 0.043 0.046 0.031 0.056 0.031 0.043 0.039 0.027 0.037 0.043 0.128 0.128]
B F#1E D 5 5 fE(mg/m3) 0.026 0.031 0.037 0.024 0.040 0.019 0.027 0.026 0.016 0.024 0.034 0.100 0.100]

HARET AhBIE B 30 31 30 28 31 30 31 30 31 31 28 31 362
B B RS 717 742 719 691 742 719 743 718 743 743 667 743 8687
F 15 f(mg/m3) 0.010 0.012 0.013 0.010 0.021 0.011 0.011 0.011 0.008 0.010 0.011 0.019 0.012
1B IEAY0.20me/m3%#B Z =R 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
HEH{EAY.10meg/m3F B2 -0 %k 0 0 0 0 0 0 0 0 0 0 0 1 1
1B IE D & = B (mg/m3) 0.033 0.036 0.046 0.031 0.066 0.037 0.054 0.035 0.023 0.036 0.040 0.137 0.137
B F#1E D 5 = fE(mg/m3) 0.021 0.029 0.029 0.021 0.045 0.020 0.022 0.026 0.013 0.020 0.032 0.115 0.115]

Ed AAIE B 30 31 28 31 31 30 31 30 31 31 28 31 363
B B RS 718 742 690 743 741 718 741 719 742 743 671 743 8711
F 15 fE(mg/m3) 0.016 0.019 0.022 0.022 0.024 0.012 0.008 0.008 0.004 0.006 0.008 0.015 0.014
1B IEAY0.20me/m3%#B Z =R 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
HEH{EAY.10meg/m3F B2 -0 %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B fIE D 5 1 {B (mg/m3) 0.046 0.067 0.059 0.066 0.073 0.038 0.038 0.037 0.032 0.028 0.037 0.101 0.101
HEBED RS E(me/m3) 0.027 0.044 0.036 0.034 0.048 0.026 0.022 0.020 0.008 0015 0.024 0.084 0.084




HE AMESH AN

20204

RIEEE: NO,
AR 5H 45 58 65 78 8H 98 108 118 128 18 28 3H R

G ARAIEAR 30 31 30 31 31 29 31 30 31 29 28 31 362
2 B RS 710 735 710 733 736 689 735 712 733 687 664 736 8580
SE51E(ppm) 0.008 0.007 0.008 0.007 0.006 0.006 0.010 0.011 0.013 0013 0.011 0.011 0.009
1B 1 E D &= 5 (B (ppm) 0.031 0.022 0.020 0.021 0.015 0.023 0.028 0.031 0.039 0.045 0.044 0.033 0.045
B FH{ED RS E(ppm) 0.015 0.016 0.012 0.011 0.010 0.011 0.017 0.020 0.024 0.026 0.018 0.021 0.026
1BRAEHY0.20pmZ B 2 1= BERAZK 0 0 0 0 0 0 0 0 0 0 0 0 0
1BERA{EAY0.1ppm L _E0.20pm LA T D BERASK 0 0 0 0 0 0 0 0 0 0 0 0 0
B FHfEA%0.060pmZEHE A - HE 0 0 0 0 0 0 0 0 0 0 0 0 0
H S $5{EA%0.04ppm L _E0.06ppm L T D H # 0 0 0 0 0 0 0 0 0 0 0 0 0

HARET ARAIEBA 29 31 30 29 31 30 31 30 31 31 27 31 361
2 B RS 713 742 717 723 741 717 741 717 741 742 666 742 8702
SE5TE(ppm) 0.007 0.006 0.007 0.007 0.007 0.006 0.009 0.010 0.012 0012 0.009 0.008 0.008
1B 1 E D &= 5 (B (ppm) 0.027 0.026 0.018 0.023 0.015 0.019 0.023 0.035 0.040 0.044 0.038 0.029 0.044
B FH{ED RS E(ppm) 0.013 0.015 0.010 0.011 0.010 0.010 0.016 0.022 0.027 0.026 0.019 0.021 0.027
1BRAEHY0.20pmZ #E % 1= BERAZK 0 0 0 0 0 0 0 0 0 0 0 0 0
1B RA{EAY0.1ppm L E0.20pm LA T D BERASK 0 0 0 0 0 0 0 0 0 0 0 0 0
B FHfEA%0.060pmZEHE A = HE 0 0 0 0 0 0 0 0 0 0 0 0 0
H S $5{EA%0.04ppm L _E0.06ppm L T D HE 0 0 0 0 0 0 0 0 0 0 0 0 0

Ed ARAIEBAR 30 31 30 30 31 30 31 30 31 31 28 31 364
72 B RS 712 736 711 731 736 711 735 714 736 737 665 737 8661
SE5TE(ppm) 0.005 0.006 0.007 0.007 0.006 0.005 0.005 0.007 0.008 0.007 0.007 0.007 0.006
1B 1 E D &= 5 (B (ppm) 0.023 0.029 0.019 0.022 0.019 0.018 0.019 0.028 0.034 0.037 0.040 0.041 0.041
B FH{ED R & E(ppm) 0.010 0.012 0.010 0.013 0.011 0.008 0.008 0.014 0.020 0014 0.013 0015 0.020
1B¥RAEHY0.20pmZ B 2 1= BERAZK 0 0 0 0 0 0 0 0 0 0 0 0 0
1B RA{EAY0.1ppm L E0.20pm LA T D BERASK 0 0 0 0 0 0 0 0 0 0 0 0 0
HFEH{EA%0.060pmZHE A - BE 0 0 0 0 0 0 0 0 0 0 0 0 0
H 5 A%0.04ppm ELE0.06ppm EL T O H 3% 0 0 0 0 0 0 0 0 0 0 0 0 0




HE AMESH AN

20204
BIEER: NO
RS =) =
HIER EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 At
= ABIEBR 30 31 30 31 31 29 31 30 31 29 28 31 362
B E B RS 710 735 710 733 736 689 735 712 733 687 664 736 8580
F 915 (ppm) 0.003 0.002 0.003 0.003 0.003 0.003 0.006 0.007 0.008 0.007 0.006 0.005 0.005
1B 1 IE D £ = {B (ppm) 0.017 0.034 0.020 0.030 0.021 0.023 0.045 0.049 0.056 0.081 0.055 0.046 0.081
B £ #1E D 5% = {E (ppm) 0.006 0.005 0.006 0.007 0.006 0.007 0.016 0.020 0.022 0.024 0.010 0.010 0.024]
HARET ABIEBR 29 31 30 29 31 30 31 30 31 31 27 31 361
B B RS 713 742 717 723 741 717 741 717 741 742 666 742 8702
F 915 (ppm) 0.002 0.002 0.002 0.003 0.002 0.003 0.004 0.005 0.007 0.005 0.004 0.002 0.003
1 B ] IE D 2= = {B (ppm) 0.019 0.014 0.017 0.026 0.015 0.025 0.035 0.058 0.070 0.075 0.047 0.031 0.075]
B £ #1E D 5 = {E (ppm) 0.004 0.004 0.005 0.006 0.004 0.006 0.010 0.017 0.024 0.022 0.011 0.007 0.024]
Ed ARIE B 30 31 30 30 31 30 31 30 31 31 28 31 364
B E B RS 712 736 711 731 736 711 735 714 736 737 665 737 8661
F 915 (ppm) 0.002 0.002 0.003 0.006 0.004 0.004 0.003 0.004 0.005 0.004 0.003 0.003 0.004
1B ] I8 D 2 7= {B (ppm) 0.018 0.017 0.027 0.034 0.025 0.043 0.030 0.040 0.061 0.062 0.062 0.061 0.062]
HEHED R =B (ppm) 0.005 0.005 0.008 0.012 0.006 0.007 0.007 0.008 0.011 0.012 0.008 0.006 0.012




HE AMESH AN

20204
BIEER: NOX
A 15 B
AER B 47 5H 68 7H 8H 9H 10H 11H 12H 1H 2H 3H REt

= ABIEBR 30 31 30 31 31 29 31 30 31 29 28 31 362
B E B RS 710 735 710 733 736 689 735 712 733 687 664 736 8580
F 915 (ppm) 0.012 0.010 0.011 0.011 0.009 0.009 0.016 0.018 0.021 0.021 0.017 0.015 0.014
1B 1 IE D £ = {B (ppm) 0.040 0.053 0.035 0.047 0.032 0.037 0.061 0.067 0.081 0.102 0.086 0.073 0.102]
B £ #1E D 5 5 fE (ppm) 0.020 0.019 0.016 0.017 0.016 0.017 0.029 0.039 0.045 0.046 0.028 0.031 0.046]
FEHENO2/(NO+NO2)(%) 70.7 76.8 732 68.9 68.2 70.5 64.4 61.0 60.9 63.9 65.3 69.2 67.8

HARET AhBIE B 29 31 30 29 31 30 31 30 31 31 27 31 361
B E B RS 713 742 717 723 741 717 741 717 741 742 666 742 8702
F 915 (ppm) 0.009 0.008 0.008 0.010 0.009 0.009 0.013 0.015 0.019 0.017 0.013 0.011 0.012
1B 1 IE D 2= = {B (ppm) 0.038 0.039 0.030 0.041 0.025 0.044 0.050 0.077 0.098 0.108 0.077 0.053 0.108]
B £ #1E D 5 = {E (ppm) 0.018 0.019 0.013 0.016 0.013 0.015 0.027 0.035 0.051 0.048 0.028 0.028 0.051
FEHENO2/(NO+NO2)(%) 78.9 80.8 770 69.5 739 71.3 69.3 67.2 64.2 68.8 713 773 725

Ed ABIE B 30 31 30 30 31 30 31 30 31 31 28 31 364
B B RS 712 736 711 731 736 711 735 714 736 737 665 737 8661
F 915 (ppm) 0.007 0.008 0.010 0.013 0.010 0.009 0.008 0.011 0.013 0.011 0.010 0.010 0.010
1 B ] IE D 2= = {B (ppm) 0.040 0.038 0.043 0.048 0.030 0.047 0.044 0.056 0.094 0.086 0.102 0.072 0.102]
B 3 #1E D 5 = {E (ppm) 0.014 0.016 0.018 0.021 0.015 0.013 0.014 0.022 0.031 0.021 0.019 0.020 0.031
SEHTENO2/(NO+NO2)(%) 74.0 735 67.4 54.6 64.5 58.1 63.6 64.9 62.1 61.8 69.3 67.9 65.1
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